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Fifth Semester Special Examination 2012
MCA
MCC 501
ARTIFICIAL INTELLIGENCE AND EXPERT SYSTEM

1. Answer the following questions: [2 x 10]

(i)
(i)

(iii)
(iv)
(v)

(vi)

(vii)
(viii)
(ix)
(x)

What do you mean by Expert System?

Is bidirection search more preferable than unidirection search?
Justify your answer.

List out different important components of a script.

State the use of Knowledge Engineering?

How the heuristic approach describes as part of problem solving?
What is environment?

State two properties of environment.

Write any two ambiguity occurs in Natural Language Processing.
Explain the term herbrand universe.

How can you represent the resolution in a predicate logic?
Define and give one example of first order logic.

2. (a) Define in your own words:

(i) Intelligence, (ii) artificial intelligence, (iii) agent (d) rationality, and (e) logical
reasoning.

(b) State the advantages of iterative deepening search over depth-first and breadth-first

search.
[5+5]
3. (a) What do you mean by Information retrieval?
How an IR information retrieval system can be characterized?
(b) Explain the architectural design of an expert system.
Give an example of an expert system that uses production systems.
[5+5]

4. (a) State the search process using AO* algorithm.
(b) Describe the necessity and use of Phrase Structure Grammars.

[5+5]
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5. Differentiate between the following terms: [2:x:5]

(i) Classical Search and Adversarial Search

(ii) Knowledge representation and knowledge acquisition
(iii) Procedural knowledge and declarative knowledge

(iv) Progressive planners and regressive planners

(v) Phrase structure Grammars and Augmented grammars

6. (a) State and explain back-propagation algorithm for learning in multilayer networks.
(b) Write a method for constructing Bayesian networks.

[5+5]

7. (a) What is heuristic search?
Write heuristic function for Travelling salesman problem and Tic-Tac-Toe.

(b) Assuming predicates Parent (p, q) and Female (p) and constants Joan and Kevin, with
the obvious meanings, express each of the following sentences in first-order logic. (You

may use the abbreviation 3' to mean “there exists exactly one.”)

(i) Joan has a daughter (possibly more than one, and possibly sons as well).
(ii) Joan has exactly one daughter (but may have sons as well).

(iii) Joan has exactly one child, a daughter.

(iv) Joan and Kevin have exactly one child together.

(v) Joan has at least one child with Kevin, and no children with anyone else.

[5+5]

8. Write short notes on any two: [5x2]
(a) A* Algorithm
(b) Syntactic Analysis
(c) Semantic network

(d) DENDRAL




